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QUESTION 1[10]
11 . .
043 and s‘/—i V043
27 1
v o 3|—_—
\ 27
)
1.2 9,87 vanswer
1)
1.3 .
0,43=0,433333333..
let x = 0,4é :
. v'equation 1
10x=4,3 - —————-— @ v'equation 2
~100x=433 ——————— )
equation (2)- (1) v 90x =39
90x=39 v answer
30
14 | 7J2-98 v 742 =498
/81 < /98 < /100 v \/81<+/98 <100
9<+/98<10 v
o _ answer
- itliesbetween integers9and 10 3)

QUESTION 2[16]

2.1 (2a—3b)(3a” + 2ab—3b?)
_ 2 AN 2 _qh?
=2a(3a“ +2ab—3b“) —3b(3a“ + 2ab—3b*) v 6% + 43 — Bab?
=6a’ +4a’b—6ab* —9a’b—6ab” +9b° v'—9a% —6ab? + 9b°
=6a’ —5a’b—12ab” +9b° v'answer
©)
221 | 3x+6y—ax—2ay =3(x+2y)—a(x+2y) v’common factor
v
— (X + 2y)(3_ a) answer (2)
2.2.2 | 3x* +17x -6 = (3x-1)(x +6) v (3x-1)
v (x+6)
)
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231 23n+2.8n—3 23n22.23(n—3)
4302 = 22(n-2)
9EN2 piny-s v'simplify numerator
- 2t v'simplify
= 23n+3n-on 92-9+4 denominator
__ 0 -3
=22 v'simplification
=1x 1 V2
8
1 v'answer
8 5)
232 | p'rq’ 3p-3q_(pra)(p’-pa+q’), Hp-q) | viactorsumoftwo
2 2 N2 2 _ cupes
6p P-—q , 6p2 (p+a)(p-a) v’common factor
_ P -pa+a v factor diff. of two
2p° squares
v'answer
4)
QUESTION 3[22]
3.11 | 3x-5=2(3x-1)
3X—5=6X—2 v'removing brackets
-3x=3
x=-1 v'answer
3)
312 | x(x-2)=8
v'removing brackets
2_2x=8 g9
Xz X v'standard form
X" -2x-8=0 v'factors
(x-4)(x+2)=0
v'both answers
SX=4o0r x=-2
(4)
313 2X+2 — i
27
ez _ 1
32 2 — ?
2Xx+2 -3 ‘/3_3
3T =3 v'equating exponents
S2X+2=-3
2% = _5 v'simplification
SX=— > v'answer
2 (4)
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3.2 1 x-1 1
3 6 18
1
—2<x—1<§ v'simplification
1
—2+1l<x<=+1
v'critical values
—l<x< 3 v'notation
.O (I) v'graphical
< ' ! > representation
-1 1.33
(4)
3.3.1 | let price of fruit yoghurt be x and of plain yoghurt be y
X=y+4 v'v'each equation
5x + 3y =84 (2)
3.3.2 | let fruit yoghurt be x and plain yoghurt be y
X=y+4
5x+3y =84
substitute v/substitution
5(y+4)+3y =84 v'removing brackets
5y+20+3y=84 S e
8y = 64 simplification
. y=38 vy=8
X=8+4
-12 vx=12
.. each fruit yoghurt cost R12 and each plain yoghurt costR8 ©)
QUESTION 4[9]
411 |4 7 10 v/pattern
N 3 VRN 3 7
next termis13 v'answer
. the fourth diagram will have 13blocks Answer only: full
marks
2
4.1.2 | pattern is linear, T, =dn+c
To solve for c, substitute n=1and T, =4 v substitution
4=3(1)+c v value of ¢
nc=1 v'answer
ST, =3n+1 3)
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4.1.3 T,=3n+1
70=3n+1 v'substitution
3n=69
..n=23 v'answer
The 23" diagram will have 70 blocks @
4.2 8888888=987654x9 + 2 v'987654
v +2
(2)
QUESTION 5[12]
5.1.1 | Cisy-interceptof f,x=0 v subst. x=0
s y=-0°+9
=9 v C(0:9)
. C(0;9)
Eisy-interceptof g
. y=0-3=-3 v E(0;-3)
- E(0;-3) 3)
512 |CE=CO +OE v'method
=9+ 3 =12 units v'answer
)
5.1.3 | Aispointof intersectbn .. f(x)=g(X)
w2 19=x_3 v'equating
x> +x-12=0 v'standard form
(x+4)(x-3)=0
X=—4 or x=3
SLX=-4
y=—4-3=-7 v'v'each coordinate
L A(-4:-7) (4)
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5.2 v
v'shape
vincreasing function
x v'asymptote below
/ X — axis
"""""""""""""""""""""" 3)
QUESTION 6[6]
6.1
h(x) = 2 -1
X
-int t,y=0
X |r12ercep Y v'subst. y=0
0=—-1
X
2
1=2
X v xX=2
X=2 (2)
6.2 | y=-1 v'answer
1)
6.3 y
v'X — intercept
h
v'asymptotes
2\\_‘35
v'shape
e IR CE e s
3)
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